No.
Date.

%% e

2.50 _
Tates ———— Tts) oHap ge 2 62 4% £T mok
B 5 L.(a,) ——t I35 ék_\z, = 14876 kJ sl
 AHge Ao 0012 6,20 {
(kI mok") - Xl =8
%8399

Aq;f; —AFI: = 9x6.20~ (o012 = 2.28 [J mﬂ" Y

AHos = aHe t228= lep 6 +208 = dAslo¥ EJnel”
1) a TR B 7l
1t Qo) — s —— 2La)
aHo = 62.94 sH= 1sl.04

ﬁ-\:{;,ﬂs = ‘_(1: (62_\4‘{'-{- (s[04 ) = /05‘71 Lj mie-f‘

251,
cr/wfi[\chl = CEZO = 3C0, + 3H.ow) g
— aH
A aHiod) 0 ~345.52  —285.8%3  _—a0ll.2
(KT mat™)

B sH' = 3 sHieon)t 3 Mg (o) — OH;CCSHJ — 1 ff(o.)
-2y 2 = 2x(~393.52) 4 5;(_;95,33),* AH;(Caﬁs) —C,

Q}_-[;(Ca('l.,) = §3 /s kI sl

_1 = 3C@) + 6H@G) — CsHs [= Fta
| (/Aq;ﬂs Vb, 65 21§00 M
.\ijm&:‘)

\ ht

"/\f}\“«“ (3 &ﬂ{o 7 MHRRTE Y e fv—)ﬁ/(éq”m"p“? sATonT .

AH= 6305 = 3x(6.68) — bx(28.2) = =304 81 k.

.-T

;
o,

ﬂf\?!\ﬁ‘% PR ) 2o L e 5704




F—_

No.

Date

o 3532~ Fat{Bed, B3E alE Ho kT wl
< D RTIicTsL.

2 x Cpe 660-!—{ = +540°f'.8‘1

Ik Goe t GO = o489 Pec = 3160 LT mt™
24 {&-—t’; ﬁ ?“S: ) "E\ﬁ?—-") ﬁ\"l’ﬂ‘k*ﬂz (C;H&) "}@,f: AT "]‘2 o
(A B Toaw o wTot s 48 B 2A-21Toon Fhhru3. )

2.52.  Y3%774 795G Terotd.

NH, —— N@> +  3H(%) 3% % q 48 62
| AH & =0, Al 31878
(k7 mﬂ ') —1.08 49018 2[b. oY 1338° T U\ s,

:NEF\&-\AHIH

aH= 47098+ 3x(;;£.o¢f)_(#3?‘e§})'; 1159, 98 éJm[r
[4Blo K- fifz2et-a 22308~ 3097 (Ted”
£13) % 38918 fc -3 2ud,

353 0 %% Co | BRIET ) 45Ka B8 13 @
o #6 | F ©-<3T=®1=(3 R3i17 248 L %
A A e A s,

| mok o 94'\’«‘: } (NaBahkR3) nvaded A 4567818 4Na
S % LN £5 0%z 30 (Tanar 418 a ToFd 2Aa

e 8T o A 454120t =19 opee = aHup ©Ta3.
~B . |k BTl C-CBALRHA~13 At v Thiddav.
Na€= 4+ AHup =723,




No
Date

3,54 LifFa 4% 220t —
P65, 3 6o 85
U tgee = — Aﬂ;(uﬁc) + aH (L a)+ aH(F.9) — 2kT+T1-A
aﬁ;(f_aﬁw—-— — 6160 kT mel (R 4B )

sHy(a) = (s9%0 kgl | affi(fia) = 99,31 kT mel”

— —_

I.= 5205 KImel |, Ar= 3326 kImel'  (zaogpz@ =

.csamﬂa: ((boo (5730 + 7?,3?--#5.,3, 28+ 850 ¢ —332. 4
n3
= (0376 kjwf.—{ {DT
= LI~ %1%

265 2% ‘J\;‘%’ 58 v SHAE 4 (0>
I [~2e > Kay t Brogy <
Kiay + Bris
éHZ( K3)— RTT TA ﬁ;(br,;) - %’ET

l —
k@:) pul Bl’,_ (%) 4 Ulnﬁce
il s

- k(f-) ¥ J—:_’Brz(,,e)
—aHy (k8r<)
K Br =




No.
Date.

LZHma-9+ K wye

N k7 -mol ™

pHy (kB o) = 393 50 < hrd

sty (k:3) = §9.00

aHy (Br8) = 1186 « 7K v Ftakes

At{w = 30 9l

1 = 484 De-_: @2.0 7@ 3t
A = 34,7 x4 LT ABE AN,

i AL

Al = -—Aﬂ} (kBr,c) + Aﬁ; (k3)+ AH;(B:—,%) ~+—£_4FI;{ —2RT+ 1A,

o 3!‘{:2?5’

= 393.89 + ¢T.00 ¢t (I, t —ano U —2x +4r8-32%7
= (987 LIyl
o LiBr, NaBr Tact t.201$tF 10
2.5% i
CuS0q (0 —— Cu'(ag) SO (ag)
sH /[Tl — 949 78 6%.77 —708.27
SoaH= £4.77 = Fod 27— (767 028D
([cak = ¢I8¥7 )
= %52 [Tl 3 100} beksak (AR
CuS04 SHO () ——  Cut (ag) + 50y (o) + EH:0
Al /ot —2299.68 (470 —90l2)  —:8583

5 sH= 4617 = 7002+ §x(-28883) — (- 2217.65)

= b Elmk' — 43 ekl (opE)
~Ba A E 5 H 3 ) Felac Y order ctva TLET VI3,




